KEFEFREHRAERR

(S 3F 1 0 A&

o @ i

No.| NI B E A & |mxa| en (:g‘/) ID) (mi /S;) o° ﬁﬂﬁjﬁf mewe | B B
1|Fen |xzm ) |Aaa|10/18] 77 | 10| 2| 10| 15000 |E B &
2 |Fen |mmeE waam) | A |10/18] 7.6 1.0 3| 1] 40 |Em=
3 | A 4 H (@) A | 10/13 7.0 1.2 12 9.2 7900 1t B h 2
4 |F#hI Sl (Fehh) A | 10/13 7.1 1.4 10 9.2 3300 Jb fE i E
5 | Fail BEEE (RE) A - - - - - - JbpEthE (5,8, 11, 2A A
6 [FHhII I TERE (h B A | 10/13 1.7 1.3 16 8.6 2300 Jb fE i E
1 [Tl PN (BR1Lw) A | 10/13 1.7 1.5 19 8.7 3300 Jb fE i E
8 |FHhll I (BR1L) A | 10/19 7.0 1.3 10 9.8 49000 EHE
9 KNI By THE (/INiEHT) AA| 10/18 1.7 1.0 1 10 790 EHE
12 N = ({EAT) A | 10/18 7.9 0.8 4 10 17000 kB E
13 |EEeh Il BIAE (™) AA| 10/18 7.9 0.7 2 9.4 1700 Rk HE
14 14BN IELEDE (F#nHT) A | 10/18 7.6 |< 0.5 2 10 2200 kB E
15 [xmE REE (@) A | 10/18 7.7 |< 0.5 2 9.9 1300 kB E
16 [#8 NI BILERE (@) A | 10/18 7.8 0.5 14 10 2200 kB E
17 (% 145 (@) A | 10/18 7.9 0.5 8 10 4900 kB E
18 [GEE I PR (@) A | 10/18 7.9 0.7 2 10 17000 Rk HE
21 |BREN EEE ({E=HT) A | 10/19 7.9 0.7 2 10 3500 kB E
22 |EBEN EEE (R%M) A | 10/13 8.0 3.1 39 9.7 | 750000 EHm
23 |wE#EN | RINE (L4/PImET) A | 10/19 1.6 0.8 1 9.8 1100 R HE
24 |=RE) |REEEE (L4/PImET) A | 10/19 1.6 1.3 4 9.7 7900 kB E
25 (48 il FHF15 (BR 1L ) A | 10/19 7.0 1.7 3 10 46000 R HE
26 [E ERXBNERAL| KT AA| 10/15 7.4 |< 0.5 |K 1 9.9 46 wARM
28 [EE NI 1 B (¥aAT) A | 10/13 7.5 |< 0.5 1 9.5 230 JeREh 2
29 [EE Nl HiRE (REZ%Hm) | A | 10/13 7.1 1.5 2 9.1 2300 JeREh 2
30 [E N BE 15 €= T)) A | 10/13 7.1 0.7 3 9.2 3300 JeREh EE
31 |E N INTIHE (REm) A | 10/13 1.1 0.7 3 10 790 JeREh 2
2 | EZBHI | XKBE (BHR™) A | 10/19 8.1 |< 0.5 1 9.5 2400 kB E
B I=EBHIN |B 1B (AT A | 10/20 7.1 1.3 2 9.0 130 b [z tth &
4|8 NI SHIIE (AT A | 10/15 7.8 0.6 6 9.6 10000 W AT
3518 K tRFE (&R T) A | 10/19 8.2 | 0.5 2 9.0 3300 kB E
36 |A HEIE (AT A | 10/15 7.6 |< 0.5 2 8.7 1400 W AT
37 |FE=N BAR IR (REFm™H) |AA] 10/13 1.2 0.7 3 9.2 49000 kB E
38 |[=#l EEINERAL | (KETH) AA| 10/13 7.5 |< 0.5 1 9.6 7900 kB E
39 [N =G (ZZ% )| A | 10/13 1.2 0.5 2 8.8 13000 kB E
A1 |FEEN A RS (EIRHT) A | 10/13 8.1 0.9 14 8.9 49000 kB E
) XAtPEEX, EXRBEEIEMSEER DR

) No [(FIRIBEER
BEY FRRELEEB

3




No.| % B E A 2 |mxa| on (:g‘/’ > (mz he oo ’(';ﬁ’i"’fof)ﬁf B | ®
42 |4EFEN SEE (E®) A | 10/13 7.9 1.1 41 9.5 | 240000 E®HT
43 [4ETEN HERE (E®) A | 10/13 8.1 1. 8 9.6 15000 BT
44 |XE=N £0kMA (A&) B | 10/6 1.4 1.5 10 8.7 3900 kB E
45 |X=|NI P=Li: (A& B | 10/6 8.0 1.3 12 9.0 4800 Rk BHE
46 |X=|)NI HEEE (REFET) B | 10/6 8.1 2.0 9 9.0 17000 oh 1 h 2%
47 | XK= R4 CEE ) B | 10/6 8.6 2.1 1 10 7000 rh &R th &
48 |R=EJIl T L E (EgriR ) A | 10/6 8.8 1.8 8 10 7900 rh &R th &
49 |R=EJIl =8 i (¥ )11HT) A | 10/6 8.3 1.1 8 10 11000 rh &R th &
50 |R&EJII KEE (BRAT) A | 10/6 8.3 0.7 8 10 7900 rh &R th &
51 [X=|N 2DOUL4E (BRAT) A | 10/6 8.3 0.8 8 9.8 11000 rh &R th &
52 |R&EJI HMEE (B[ B ET) A | 10/6 8.0 0.6 3 9.8 7900 rh &R th &
53 |#& ) ki (REFET) AA| 10/6 1.4 0.5 1 9.1 330 B/ E
54 | =& BEBERE (fRHB) A | 10/6 9.1 0.7 3 10 3300 o &R th &
56 [NEN | |EENARAL |(KEH) |AA| 106 | 80 | 05 ] 9 |94] 330 |&E®H =
BT [ AL @D | AAl 106 | 80 | 05 | 4| 10| 2 | |maerm
58 1# il MEFE (BRETH) AA| 10/6 7.3 |< 0.5 | 1 10 490 EHEB
59 1 Nl KRB (BRET) A | 10/6 7.3 0.6 (< 1 10 3300 B/ E
BN |[praET @EmT |AA| 106 | 71 | 05 | 9 |95]| 1300 |E® =
61 |F0&NEF)I  |FOENEFIIFYV7" 15 | (REEH) AA| 10/6 6.9 |< 0.5 1 10 790 EHERE
62 [= L LB (KEEH) AA| 10/6 8.3 |< 0.5 5 10 790 EHERE
63 = Jil BFEKRIE (F¥Hm™) A | 10/6 8.2 |< 0.5 1 9.7 3300 kB E
64 = Nl EIIE (GmEhT) A | 10/6 7.7 |< 0.5 2 9.2 4600 Rk B E
65| JiII X 5K (F5) A | 10/6 1.7 0.5 1 9.6 3300 kB E
6 lE M |meis @3m | A|106] 716 | 06 | 1 |97]| 420 |E%H=
67 [F& I EDE (FIREHET) | A | 10/6 1.7 0.6 1 9.5 490 kB E
68 [f&:mr K ThHDIINE (B&) A | 10/6 1.7 0.5 2 9.0 1100 Rk B E
69 |RE I HERE (KRB #) AA| 10/13 7.0 1.0 20 9.4 1300 EH B
70 |RE INNFE (E#xET) AA| 10/13 1.7 1.0 12 9.5 3300 EH B
T IREN =R+ (FAKEHT) |AA] 10/13 1.2 0.8 14 9.1 4900 EH B
12 |E=N £ 7 (KREHT) AA| 10/13 6.6 0.6 2 9.6 1300 Rk ¥ B
75 |Z&]I HKENEHRALE |[(EXRED|AA| 10/6 8.0 | 0.5 1 9.1 170 EH A
6 |mEN |memis GRER) | AA| 106 | 77 < 05 | 1 |91]| 20 |&®H &
71158 K= (AE#H) 10/19 7.9 |< 0.5 1 10 13000 Rk ¥ B
18 (& Nl BARE (INEF) 10/19 8.0 |< 0.5 1 10 2400 Rk ¥ B
79 |52 ] HA (F ) AA| 10/19 1.5 0.6 (< 1 9.6 79 K ¥ B [5~11A8IE
) XhEEE. Bt TAEPBnSERROR




O i A
No.| miEg BE A 2 |mxa| on oor e e ’(';ﬁffjﬁf aewe | W o=
80 &M | ongen | A fto3] 67 | 23| 1 ]e7| 40 |EBE®BE[I~2E8E
81 |kmy | e | A l1o3] 70| a5 | 3 |76] 130 |&E®Ei~25mE
82 | KEEAERs |7t 4 EHm | A|tom3] 85| a0 | 2 [66| 930 [Emm
83k it |mHH Gu/meEn) | A [ 10/19] 81 0.8 | 1 |89 220 |&EB®B[~1288%
84 (= | amen | A [1o9] 86 | 22| 4 ool 19 |E®E[~288F
85 |m UM |t wsmm | Al1o6]| 86 | 27 2| 0] 1300 [EH=
86 |85 | wxm | A l1os] 82 | 33 | 4 |o2| 280 [ & wla~1mmE
87 &AM | kmrm) [ mltom] 79| 1|1 [oal 90 [sme
88 |chil |t kmrm) [ m|tom3] s2 | a4 |1 |87 80 [Eme
89 [Kimm  |W ke | M| 1013 s 40 | 2 (53] 190 |[m®me|FH oo |
90 | | kmrm) [ m|to3] ss5 | 25 | 1 [o1| 0 [Eme
KiS# |2t ATEY mliome] s3] 33| 2 [72] 1700 [8®=
e Altoe| sa | 37| 10|se| 520 |Ewme|em
AEE L L Gsm) | A|106] 84| 38| 8 o1 30 |Ewme|em
93 |meHm  |mAe200m  |@am | A| 106 80 | 45 | 18| 76| 20 |&5%me|em
W |3thATY Altoe| 83| 40| 12|84 220 [Emm
o4 |EtEm  |FhEs Emm | A 106 ] 7.1 24 | 4|78 1300 [E®H=
95 R |FhEs EHm |A|twe]| 85| 12| 1] 0] 6 |[gme
% [BREM |k R zEn [ M| 106 ] 76 | 24 <1 [8o| 14 |[Eme
9 |BRM  |#EeE zmen | m|1o6| 82| 25 [< 1 [o2] 60 [E®mE|eE
98 |BmRM M D zzen | m|1o6]| 8o | 22| 1[40 22 |[E®m=|em
BRM |3 AT mlioe]| 70 24 1 ]77] 33 [ss=
100(mkme )11 4 L |2 5 kms) | A [1o/3] 75 [ 26 | 35 [ 82| 1900 [kwmuw|em
SE) NOKERMAEIL . MR AKERAHRIR || ¥ LEEF OB
B F =1 — — > R
No-| 8 (C\;'?L:;E) R RAH (ng/ I,\; an/ IP) ﬁ(ﬁf)T;
87 |EAM | kmrem | 1 1013 o011 [<o.003 | -
88 [chiil | kmrem | @[ 10/13] 0.20 [ 0.008 | -
89 [Kimm  |# kEren | @ [10/13] o.21 | o014 6.0
90 | K | kmren | @ [10/13] o015 | o012 -
o |mH @ 0 w | 10/6 | 069 0033 0.9
92 |FmEHiHA NEHE (mshh) | V| 10/6 0.63 [ 0.032 | 1.1
93 |meHw  |mmishoom  |(@s® |V | 10/6 [ 071 0036 | 0.9
% [BREM |k R dsmEn | 1| 106 | 0.00 | 0.005 | 7.4
9 |BmRM  |#xe® dsEn | 1| 106 | o0.08 | 0.004 | 6.0
9% |mRM M O dsen | 1| 106 | 0.09 | 0.005 | 6.9
100|mkne )11 4 L [ H sttt k&) | @ [10/13] o0.25 | 0.008 | -

F) ZRICOVT. BAMLSNIBERENZVEHBEBET 5



